
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Calculer les pourcentages de décimales

9.34 × 50% = ________ 9.66 × 40% = ________

1.16 × 50% = ________ 9.82 × 90% = ________

4.88 × 90% = ________ 6.56 × 20% = ________

4.82 × 20% = ________ 8.85 × 20% = ________

2.37 × 50% = ________ 3.98 × 80% = ________

2.06 × 90% = ________ 9.92 × 60% = ________

9.74 × 40% = ________ 3.31 × 60% = ________

5.23 × 80% = ________ 0.6 × 20% = ________

9.93 × 30% = ________ 5.62 × 60% = ________

4.94 × 90% = ________ 7.63 × 30% = ________
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